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QUESTION 1

A solution developer wants to monitor how much Java processing memory is currently allocated to an integration server.
A flow is currently deployed.

Assuming resource statistics collection has been started, which step will allow the developer to obtain these statistics?

A. Expand Integration Nodes folder in IBM Integration Explorer Choose Window menu: Show view: Resource statistics
Click JVM tab, and view CommittedMemorylnMB measurement

B. Expand Integration Nodes folder in IBM Integration Explorer Choose Window menu: Show view: Resource statistics
Click JVM tab, and view UsedMemoryinMB measurement

C. Expand Integration Nodes in IBM Integration Toolkit Choose Window menu: Show view: Resource statistics Click
JVM tab, and view UsedMemoryinMB measurement

D. Expand Integration Nodes in IBM Integration Toolkit Choose Window menu: Show view: Resource statistics Click
JVM tab, and view CumulativeGCTimelnSeconds measurement

Correct Answer: B

QUESTION 2

A solution developer is building an application that will receive an XML message on a WebSphere MQ queue. The
application must validate the XML message and thentransform it into a fixed format message.

What must the developer create to support the application, using the IBM preferred way to model messages in IBM
Integration Bus V9.0?

A. An XML Schema built from an example XML document and a DFDL schema that defines the fixed format file.

B. An XML stylesheet (xsl) built from an example XML document and a DFDL schema that that defines the fixed format
file.

C. A MRM message definition file with an XML physical formatlayer and a Custom Wire Format (CWF) physical format
layer.

D. A MRM message definition file with an XML physical format layer and aTagged/Delimited String (TDS) physical
format layer.

Correct Answer: C

QUESTION 3

The Integration Toolkit Adapter Connection wizard is used to create the resources that enable the WebSphere Adapters
to connect to:

A. a medical device.

B. IBM Business Monitor.
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C. Microsoft Dynamics CRM.
D. PeopleSoft Enterprise Information System (EIS).

Correct Answer: D

QUESTION 4

A solution developer needs to validate an XML message in an MQInput node before doing any other bitstream parsing
in subsequent nodes. The solution developer has enabled validation on content.

What additional node property configurations will allow the developer to accomplish this task?
A. Advanced: Convert

B. Parser Options: Parse Timing: Complete

C. Parser Options: Parse Timing: Immediate

D. Parser Options: Parse Timing: On Demand

E. Input Message Parsing: Message format and Message Domain

Correct Answer: E

QUESTION 5

A solution developer needs to implement a message flow to integrate with a Telecommunications Short Message
Service (SMS) serverwhich usesthe Simple Network Management Protocol (SNMP) over a socket layer. The message
flow starts with an MQinput node which accepts the XML input message that contains the SMS details. The message is
routed to a Compute node to compose the SNMP format as expected by the SMS service.

Which node should the developer use to send the SNMP data?

A. TCPIPClientOutput

B. TCPIPClientReceive

C. TCPIPServerOutput

D. TCPIPServerReceive

Correct Answer: C
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